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Sr: 02102021-2338
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SATS {ﬁf)
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1) 84/13 X 211/12 2) 8/49 of 98 3) Find the mean of the following set of data:
0.1,0.7,0.1,57,0.3,92, 54, 0.8
Answer: Answer: Answer:
4) Find area of 5) (-4295) + 3133 6) Decrease 252 by 1/63
b rectangle having
sidesa=9049 m
a and b=8677m
Answer: Answer: Answer:
7)  Round 22.639432 to the nearest 1000 8) (-7463) + 3170 9) (-7463) + 3170
Answer: Answer: Answer:
10)  (-7463) + 3170 11) Ygg of 264 12) Find area of
. . triangle s= 7815 ft
s
Answer: Answer: Answer:
13) 6450 - (-6308) 14) A number was shared in the ratio 15)
1:67. The smaller share was 84. Find the next three numbersin
What was the larger amount? the sequence
5,10,10,15,15,20,20 , ,
Answer: Answer: Answer:
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16) Find perimeter of 17) 76.4 x 53.7 18)
b rectangle having Find Volume of
sidesa=6750 m Cylinder
a andb=4534m
Answer: Answer: Answer:
19) Factorisex? +9x + 14 20) 187, %3 ¢ 21)  7735.7 +2567.2
Answer: Answer: Answer:

22) Convert the following improper
fraction 19%,4 + 241/, into amixed
number

Answer:

23)

‘Name the type of angle.

Answer:

24)  Increase 261 by 99%

Answer:

25) Convert thefollowing fractioninto a
mixed number: 53/,

Answer:

26)  Write 8 x 102 asanormal number.

Answer:

27) Convert the following mixed number
3618/, ¢ into an improper fraction.

Answer:

28) 29 5,,-16 13,

Answer:

29) Decrease 229 by 86%

Answer:

30) 05:20 am To 03:03 pm

Answer:
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increase an amount by 43%?

Answer:

Answer:

31) 12 12/,5-29 34 32) Find area of 33) 39,5+,
b rectangle having
sidesa=9698 m
a and b=4913m
Answer: Answer: Answer:
34)  Findthemean of the following set of data 35) 3 g 36) Anamount was increased by 4.1% to
0.8,0.1,0.1,0.6 49 $62.00. Find the original amount.
Answer: Answer: Answer:
37) (2x27) + (7 x 59 38) 24 16/,5-3 15 ¢ 39) 88.5x 58.9
Answer: Answer: Answer:
40) Convert the following fraction into a 41) 12+16-(10x 17) 42)  What would you multiply by to
mixed number: 74/, increase an amount by 43%?
Answer: Answer: Answer:
43)  What would you multiply by to 44)  Factorise 6j2 + 21j + 9 45) 14 200-29 Yo

Answer:

Copyright 2021 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

October 02, 2021

Sr: 02102021-2338
11-PLUS

MATHSWORKSHEET%‘ SATS @

GENERATOR

GCSES

46) 72x 14

Answer:

47) Find the range of the following set of data:
-20, 13,0.3

Answer:

48)  5018.4+ 246

Answer:

49) A number is chosen at random from
1 to 75. Find the probability of
selecting multiples of 18.

Answer:

50)  3936.5 +4409.1

Answer:

» \

Name the type of angle.

Answer:

52)  3644.1+569.2

Answer:

53) 27% of 257

Answer:

54) Share 98 in the ratio 92:6

Answer:

55) 5218+ 3043

Answer:

56)  What would you multiply by to
increase an amount by 53%?

Answer:

57) Decrease 162.2 by 86%

Answer:

58)

Volume of Cone
33

Answer:

59)  (-210)+ 15

Answer:

60) Round 13.2655229 to the nearest
whole number.

Answer:
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61) 1092+ 6838

62) Round 15.84164 to the nearest whole

63)  6257.3- 7256.5

number.
Answer: Answer: Answer:
64) $491.00 earning 10% compound 65) 66) (-7829) + 9628
interest for 10 years. 40 Find Volume of
Cylinder
Answer: Answer: Answer:
67) 2 Iy 68) b 69) Decrease 138 by 14%
25
a 0 c
Measure angle boa
Answer: Answer: Answer:
70) Find the range of the following set of data: 71) Find the range of the following set of data: 72) 7659 + (-2461)

-4,2,12,0,1,-15,1,7,18

Answer:

-4,2,12,0,1,-15,1,7,18

Answer:

Answer:

73) 1431+ (-27)

Answer:

74) Find the value of 's by completing
the square of the following equation:
2+8s+12

Answer:

75)
38 Find Volume of
/32 Triangular Pyramid
38 32
31

Answer:
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76) (-94) x (-87)

77) (3x 1) x (10 x 107)

78) (3x 1) x (10x 10

Answer: Answer: Answer:
79) Find perimeter of 80) A number was shared in theratio 81) Blg-23,
b rectangle having 24:75. The smaller share was 96.
sidesa=2791 cm What was the total amount shared?
a and b =1551 cm
Answer: Answer: Answer:

82) Convert the following improper

number

Answer:

fraction 36%/, + 118/, , into amixed

83) 7598 + 6838

Answer:

84)  7066.7 - 7755.1

Answer:

85  2851.1+ 1643.2

86) Increase 160 by 84%

87) Round 15.2379557 to the nearest
whole number.

Answer: Answer: Answer:

88) 370+ 10 89) A number is chosen at random from 90) Find area of
1to 75. Find the probability of triangle
selecting odd number. b b a=4119ft,b=

7106 ft
a
Answer: Answer: Answer:
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Answer:

Measure angle boa

Answer:

91) 780 + 10 92) Find perimeter of 93) b
triangle
b b a=6625¢cm, b=
7283 cm a o] c
< Measure angle boc
Answer: Answer: Answer:
94) 2 . +30,, 95) 281, -1q 96) (13x 13) + 182- 17
Answer: Answer: Answer:
97) 25 x (-76) 98) N 99) (2% 22) - (1x 49)
a o} c

Answer:

100)  (-1964) - 8221

Answer:

Total: /100
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Answers:
1) 2434 2) 16 3) 25.63 4) 78518173m 5)-1162 6) 248 7) 22.639
8) -4293 9) -4293 10)-4293  11)3 12) 26445915.183223ft 13) 12758 14) 5628
15) 25,25,30, 16) 22568m 17) 4102.68  18) 30190.705400998 19) (X + 2)(x + 7) 20) 21675, 21) 10302.9
22) 432, 23) Right 24)51939  25)2%,, 26) 800 27) 297 28) 129,
29) 32.06 30) 09 Hours 43 Mins 31) 3319, 32) 47646274m 33) 2118 34) 0.4 357
36) $59.56 37) 22131 38) 2027%/,, 39) 5212.65 40) 2 41) 42) 1.43
43)1.43 44) (3 + 9)(j + 3) 45)30%  46) 1008 47) 33 48) 20.4 49) 4
50) 8345.6 51) Acute 52) 42133  53) 69.39 54)1:97 55) 8261 56) 1.53
57) 22.708 58) 45615.925330124 59) -14 60) 13 61) 7930 62) 16 63) -999.2
64) $127353  65) 136847.77599037 66) 1799 67)5 68) 69 69) 118.68 70) 33
71) 33 72) 5198 73) -53 74) (s+4)2- 4 75) 7460.6666666667 76) 77) 300000000
78) 300000000  79) 8684cm 80) 396 81) 24/ 82) 48%/¢ 83) 14436 84) -688.4
85) 4494.3 86) 294.4 87) 15 88) 37 89) 37/ 90) 7346563.2153484ft 91) 78
92) 21191cm 93) 154 94) 8- 95) 2714 96) 97) 98) 31
99) -262136 100) -10185
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